
C

2 31 4

B

A

D

E

F

RS109

02.05.2022E.Reispere

WEIGHT: 

wood, metal, plastic A4
SHEET 1 OF 9SCALE: 1:50

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Climbing frame START



 5396 

 1
78

0 

 R1780 

 1990  1990 

 R1990 

 R1780 

 2
50

7 
 1651 

 6
24

5 

safety area

C

2 31 4

B

A

D

E

F

RS109

02.05.2022E.Reispere

WEIGHT: 

wood, metal, plastic A4
SHEET 2 OF 9SCALE: 1:50

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Climbing frame START



 6
24

5 

 5396 

 6
53

 

 2
40

6 
 1553 

 
300 

foundation

C

2 31 4

B

A

D

E

F

RS109

02.05.2022E.Reispere

WEIGHT: 

wood, metal, plastic A4
SHEET 3 OF 9SCALE: 1:50

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Climbing frame START



 1651 

 1
92

0 

 3
00

 

 7
00

 

 2507 

 2
36

0 

 2
23

5 

 300 

 3
00

 

 7
00

 

 300 ground

C

2 31 4

B

A

D

E

F

RS109

02.05.2022E.Reispere

WEIGHT: 

wood, metal, plastic A4
SHEET 4 OF 9SCALE: 1:50

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Climbing frame START



2

1

88

7

1

1

3

2

4
6

5

ITEM NO. PART NUMBER
1 ground fixture

2 post 98x98x2300

3 post 98x98x2000

4 beam 32x1455

5 climbing net 1450x1740

6 beam 50x2310
7 klimbing rope

8 plastic hanging handle

C

2 31 4

B

A

D

E

F

RS109

02.05.2022E.Reispere

WEIGHT: 

wood, metal, plastic A4
SHEET 5 OF 9SCALE: 1:50

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Climbing frame START



44

3

2

55

55

1

6 7 8 9

6
7

8
9

ITEM NO. PART NUMBER
1 ground fixture

2 post 98x98x1100

3 plastic cap 115x115

4 wood screw 6 x 90

5 bolt M8x90 DIN603
6 nut cover M12

7 washer M10 DIN9054

8 nut M10 DIN985
9 nut cover cap M12

C

2 31 4

B

A

D

E

F

RS109

02.05.2022E.Reispere

WEIGHT: 

wood, metal, plastic A4
SHEET 6 OF 9SCALE: 1:30

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Climbing frame START



B

DETAIL B
SCALE 1 : 10

2 3 4 56

3

4
5

1

1

net

beam

post

ITEM NO. PART NUMBER
1 bolt M10x120 DIN603
2 nut cover M12
3 washer M10 DIN9054
4 nut M10 DIN985
5 nut cover cap M12
6 nut cover M12 for beam 

24 nut cover cap M12

C

2 31 4

B

A

D

E

F

RS109

02.05.2022E.Reispere

WEIGHT: 120 kg

wood, metal, plastic A4
SHEET 7 OF 9SCALE: 1:50

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Climbing frame START



55

4

2

3

55

6
7

8

7

8

9 10 11 12

9
10

11
12

1

C

 7
00

 

 3
00

 

 300 

DETAIL C
ground level

ground

concrete

MF version

ITEM NO. PART NUMBER
1 ground fixture
2 AL post
3 Plastic cap
4 Plastic cup profile
5 wood screw 6 x 60
6 plastic detail for ground fixture
7 bolt M10x110 DIN603
8 bolt M10x120 DIN603
9 nut cover M12
10 washer M10 DIN9054
11 nut M10 DIN985
12 nut cover cap M12

C

2 31 4

B

A

D

E

F

RS109

02.05.2022E.Reispere

WEIGHT: 

wood, metal, plastic A4
SHEET 8 OF 9SCALE: 1:10

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Climbing frame START



A

DETAIL A
SCALE 1 : 10

2 3 4 5

6

3

4
5

1

1

*

MF version

ITEM NO. PART NUMBER
1 bolt M10x100 DIN603
2 nut cover M12
3 Washer M10 DIN9054
4 nut M10 DIN985
5 nut cover cap M12
6 nut cover M12 for beam 

C

2 31 4

B

A

D

E

F

RS109

02.05.2022E.Reispere

WEIGHT: 

wood, metal, plastic A4
SHEET 9 OF 9SCALE: 1:30

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Climbing frame START


	Sheet1
	Drawing View1

	Sheet2
	Drawing View2

	Sheet3
	Drawing View3

	Sheet4
	Drawing View4
	Drawing View5
	Drawing View6

	Sheet5
	Drawing View7

	Sheet7(2)
	Drawing View14

	Sheet6
	Drawing View15
	Detail View B (1 : 10)

	Sheet7(2)(2)
	Drawing View11
	Drawing View12
	Detail View C (1 : 10)

	Sheet8(2)
	Drawing View8
	Detail View A (1 : 10)


